» Netti 24U FAMILY
COMFORT BY ALU REHAB

SPAREPARTS
& ACCESSORIES

» Netti 4u cep

OOOOOOO

Enable joy of bt

2019-03



BMIEN  Designed in Norway

SPARE PARTS
& ACCESSORIES

»

LOOKING FOR CUSHIONS?

* Frame
* Head Support

* Arm Support

* Foot Support

* Wheel, Castors & Accessories Please see separate
catalogue with our complete range of cushions.

» Seat and back accessories
* Misc. accessories

* Netti Cushion Family Catalogue

“ Welcome to this catalogue which makes it easy for
you to find the right product for your wheelchair. It
provides you with a complete overview of the avail-
able accessories as well as spare parts. If you have
any questions please don’t hesitate to call us or send
us an email.

» Netti C
2 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM comrort 10 CEP



SEAT PLATE

Position Description
1 Seat plate Width: 35 cm, Depth:
1 Seat plate Width: 35 cm, Depth:
1 Seat plate Width: 40 cm, Depth:
1 Seat plate Width: 40 cm, Depth:
1 Seat plate Width: 43 cm, Depth:
1 Seat plate Width: 43 cm, Depth:
1 Seat plate Width: 45 cm, Depth:
1 Seat plate Width: 50 cm, Depth:
1 Seat plate Width: 55 cm, Depth:
1 Seat plate Width: 60 cm, Depth:
2 Screw M5 x 35 mm
3 Frame Seat plate washer High
4 Frame Seat plate washer Low
5 Screw M8 x 40 mm
6 Plug

TRANSPORT OF WHEELCHAIR

Position Description

GAS CYLINDER

Position Description

1 Cylinder back kit
Cylinder tilt kit
Cylinder tilt
Cylinder back

a A W N

Cylinder locking head

Cylinder Mounting kit

¥ Netti 4u ceD

COMFORT

50 cm

46 cm
50 cm
46 cm
50 cm
46 cm
50 cm
50 cm
50 cm
50 cm

Item no.

28432
42924
28433
42925
40522
42925
28434
28435
40523
40524
22098
24141
22084
21095
28168

Pcs. per chair

Item no.

29471
29472
28439
28559
90122
87370

Pcs. per chair

Pcs. per chair

l JNV S

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 3



TILT LIMITER

Position Description Item no. Pcs. per chair

FRAME EXTENDER*

Position Description Item no.

l FRAME

4 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

15
@104

Pcs. per chair

1 Frame extender for 22/24” wheels 85013 1
2 Frame extender for 16” wheels 82391 1

*Must be ordered with antitippers for frame extender.

¥ Netti 4u ceD

COMFORT



Item no.

See our movie “chan-
ge backrest height to
60 cm” on
My-Netti-TV.com

Pcs. per chair

BACKREST
Position Description

1 Backrest complete 35 cm

1 Backrest complete 40 cm

1 Backrest complete 43 cm

1 Backrest complete 45 cm

1 Backrest complete 50 cm

1 Backrest complete 55 cm

1 Backrest complete 60 cm

2 Push bow, complete 35 cm (head support adapter is not included)
2 Push bow, complete 40 cm (head support adapter is not included)
2 Push bow, complete 43 cm (head support adapter is not included)
2 Push bow, complete 45 cm (head support adapter is not included)
2 Push bow, complete 50 cm (head support adapter is not included)
2 Push bow, complete 55 cm (head support adapter is not included)
2 Push bow, complete 60 cm (head support adapter is not included)
3 Head support adapter

4 Clamp lever complete M6 x 16

5 Square nut M6

6 Screw M6 x 40 mm

7 Release handle for tilt/recline left

7 Release handle for tilt/recline right

8 Release lever push bow complete

9 Plug 25 x 15 mm

10 Screw M6 x 20 mm

n Back Velcro Seatwidth from 35-50 x 35 cm

n Back Velcro Seatwidth from 50-75 x 35 cm
Ta Netti Velcro with cut for side supports, width 35-50 cm
Ta Netti Velcro with cut for side supports, width 35-50 cm

12 Cylinder hinge back

13 Quick release axle, 8 x 45 mm

14 Back hinge bracket CEDS

14 Back hinge bracket CED
20 Backrest extender 60 cm

21 Back extender velcro

28738
28739
40493
28182
28740
40494
40495
28793
28794
40487
28578
28795
40488
40489
23005
20097
20296
20431
20464
20463
29557
21847
20748
88772
88773
44992
44993
28124
29467
86283
86284

43799
43797

1

= ~ o>

AN N

¥ Netti 4u ceD

Movd

COMFORT MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 5



' HEAD SUPPORT

6 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM

HEAD SUPPORT - COMPLETE

Position

m m O O O O T

' '
' '

B

Description

Head support A 3D

Head support A Easy Care

Head support A with head band 3D

Head support A with head band Easy Care

Head support B 3D

Head support B Easy Care

Head support C 3D

Head support C Easy Care

Head support D 3D

Head support D Easy Care

Head support E 3D

Head support E Easy Care

Head support E 3D short right side 11,5 cm, left 17 cm

Head support E Easy Care short right side 11,5 cm, left 17 cm
Head support E 3D short left side 11,5 cm, right 17 cm

Head support E Easy Care short left side 11,5 cm, right 17 cm
Head support F 3D

Head support F Easy Care

Item no.

40880
28382
82566
44970
40881
28383
40882
28384
81024
82986
84850
85240
88860
88863
88866
88869
84570
85258

Pcs. per chair

¥ Netti 4u ceD

COMFORT



ACCESSORIES TO HEAD SUPPORTS Py // |
Position Description Item no. Pcs. per chair

1 Vertical bar 200 mm 41401 1

1 Vertical bar 350 mm (Standard) 41402 1

1 Vertical bar 500 mm 41403 1

6 Clamp lever M6 x 30 mm for head support, height adjustable 20282 1

7 Washer M6 20063 1

8 Star wheel M8 26684 1

9 Washer M8 29305 1

10 Square plug horisontal bar 20 x 30 x 11 mm 20852 1
Plastic plug vertical bar 20509 1

HEAD SUPPORT A WITH DIFFERENT TUBE LENGTHS & COVERS

Position Description Item no. Pcs. per chair
Head support A w/tube 150 mm, (Standard) Easy Care 42369 1
Head support A w/tube 150 mm, (Standard) 3D 42370 1
Head support A w/tube 250 mm, Easy Care 42372 1
Head support A w/tube 250 mm, 3D 42373 1
Head support A w/tube 380 mm, Easy Care 42375 1
Head support A w/tube 380 mm, 3D 42376 1
Extra cover for head support A (Easy Care) 27554 1
Extra cover for head support A (3D) 40883 1

HEAD SUPPORT A WITH BAND WITH DIFFERENT TUBE LENGTHS

Position Description Item no. Pcs. per chair
Head support A with band w/tube 150 mm, (Standard) Easy Care 87397 1
Head support A with band w/tube 150 mm, (Standard) 3D 87398 1
Head support A with band w/tube 250 mm, Easy Care 87399 1
Head support A with band w/tube 250 mm, 3D 87400 1
Head support A with band w/tube 380 mm, Easy Care 87401 1
Head support A with band w/tube 380 mm, 3D 87402 1

» Netti
conrom 4H CED MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 51 78 62 20

l 140ddNsS dv3H



l HEAD SUPPORT

HEAD SUPPORT B WITH DIFFERENT TUBE LENGTHS & COVERS

Position Description

Head support B w/tube 150 mm (Standard), Easy Care
Head support B w/tube 150 mm (Standard), 3D

Head support B w/tube 250 mm, Easy Care

Head support B w/tube 250 mm, 3D

Head support B w/tube 380 mm, Easy Care

Head support B w/tube 380 mm balljoint pip, 3D
Extra cover for head support B (Easy Care)

Extra cover for head support B (3D)

HEAD SUPPORT C WITH DIFFERENT TUBE LENGTHS & COVERS

Position Description

Head support C w/tube 150 mm (Standard), Easy Care
Head support C w/tube 150 mm (Standard), 3D

Head support C w/tube 250 mm 250, Easy Care

Head support C w/tube 250 mm, 3D

Head support C w/tube 380 mm, Easy Care

Head support C w/tube 380 mm, 3D

Extra cover for head support C (Easy Care)

Extra cover for head support C (3D)

HEAD SUPPORT D WITH DIFFERENT TUBE LENGTHS

Position Description

Head support D w/tube 150 mm (standard), Easy Care
Head support D w/tube 150 mm (standard), 3D

Head support D w/tube 250 mm, Easy Care

Head support D w/tube 250 mm, 3D

Head support D w/tube 380 mm, Easy Care

Head support D w/tube 380 mm, 3D

8 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

Iltem no.

42360
42361

42363
42364
42366
42367
27555
40884

Item no.

42351
42352
42354
42355
42357
42358
27556
40885

Iltem no.

82983
81021
82984
81022
82985
81023

Pcs. per chair

Pcs. per chair

Pcs. per chair

¥ Netti 4u ceD

COMFORT



HEAD SUPPORT E WITH DIFFERENT TUBE LENGTHS

Position Description Item no. Pcs. per chair
1 Head support E w/tube 150 mm (Standard), Easy Care 87407 1
1 Head support E w/tube 150 mm (Standard), 3D 87408 1
1 Head support E w/tube 250 mm 250, Easy Care 87409 1
1 Head support E w/tube 250 mm, 3D 87410 1
1 Head support E w/tube 380 mm, Easy Care 8741 1
1 Head support E w/tube 380 mm, 3D 87412 1
2 Head support E w/tube 150 mm (Standard), Easy Care, short right side 88850 1
2 Head support E w/tube 150 mm (Standard), 3D, short right side 88847 1
2 Head support E w/tube 250 mm Kugelrohr, Easy Care, short right side 88851 1
2 Head support E w/tube 250 mm Kugelrohr, 3D, short right side 88848 1
2 Head support E w/tube 380 mm Kugelrohr, Easy Care, short right side 88852 1
2 Head support E w/tube 380 mm Kugelrohr, 3D, short right side 88849 1
3 Head support E w/tube 150 mm (Standard), Easy Care, short left side 88856 1
3 Head support E w/tube 150 mm (Standard), 3D, short left side 88853 1
3 Head support E w/tube 250 mm Kugelrohr, Easy Care, short left side 88857 1
3 Head support E w/tube 250 mm Kugelrohr, 3D, short left side 88854 1
3 Head support E w/tube 380 mm Kugelrohr, Easy Care, short left side 88858 1
3 Head support E w/tube 380 mm Kugelrohr, 3D, short left side 88855 1

HEAD SUPPORT F WITH DIFFERENT TUBE LENGTHS

Position Description Item no. Pcs. per chair

Head support F w/tube 150 mm (Standard), Easy Care 87413 1 %
Head support F w/tube 150 mm (Standard), 3D 87414 1 >

O
Head support F w/tube 250 mm 250, Easy Care 87415 1 wn
Head support F w/tube 250 mm, 3D 87416 1 %
Head support F w/tube 380 mm, Easy Care 87417 1 8
Head support F w/tube 380 mm, 3D 87418 1 3

I s ———
G

» Netti
conrom 4H CED MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 9



o

HEAD CUSHION WITH ELASTIC BAND

Position Description Item no. Pcs. per chair

- Head pillow with elastic band, grey 3950

HEAD SUPPORT CUSHION COMFORT

Position Description Item no. Pcs. per chair

- Head cushion cushion Comfort for head support C 3952

l HEAD SUPPORT

» Netti 4
10 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM donrsar Y CED



1) 15y
(1 (2)

HEAD SUPPORT FROM SYMMETRIC DESIGN

Position Description

1 Savant Pediatric including head band (without bars)
1 Savant Small including head band (without bars)

1 Savant Adult including head band (without bars)
Savant side support

Horisontal bar for Netti wheelchairs, 150 mm*
Horisontal bar for Netti wheelchairs, 250 mm*
Axion rotation hardware 60°

Axion rotation hardware 90°

a N A N W N

Extra adapter for mounting Axion adaptor with Netti head supports

*For vertical bars see head support accessories.

¥ Netti 4u ceD

Item no.

45365
45366
45367
45373
45369
45370
45368
45378

89558

Pcs. per chair

l 140ddNsS dv3H

COMFORT MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 11



ARM SUPPORT & ACCESSORIES

ARM SUPPORT

Position

© 0o N O u A NN

o

—
=

Description

Arm support, right

Arm support, left

Arm support pad 385 x 58 mm PU with screws, standard
Screw M5 x 16 mm

Screw M6 x 16 mm

Washer M6

Screw M8 x 45 mm

Nylon washer

Distance block arm support/backrest
Lock nut M8

Allen screw M5 x 22 mm

Arm support, close adaptor

Item no.

29118

29119
20835
28846
20800
20356
21095
29300

2917
20412
28709
28027

Pcs. per chair

N O N N N NN DN DN

12 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti 4u ceD

COMFORT



COMFORTPADS - ARM SUPPORT

Position

SEAT WIDTH EXTENSION KIT

Position

¥ Netti 4u ceD

COMFORT

Description Item no. Pcs. per. chair

Comfortpads, right
Comfortpades, left

Screw @4,2 x 14 mm

Description Item no. Pcs. per. chair

Extension kit 2,5 cm (up to seat width 45 cm) 83937 1

SIIHOSSIADOIV B Ld0ddNS WAV

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 13



ARM SUPPORT PAD

Position Description Item no. Pcs. per chair

1 Arm support pad standard 385 x 58mm 20835 2

Arm support pad PU, 445 x 68 mm 29136 2
2 Arm support pad PU, 420 x 80 mm 29137 2

Arm support pad PU, 525 x 80 mm 29138 2
3 Arm support pad w. bend PU, 525 x 80 mm 29139 2
4 Arm support pad cover (extra soft) 3D 385 x 58 mm 41649 2
4 Arm support pad cover (extra soft) EasyCare 385 x 58 mm 87765 2
4 Arm support pad cover (extra soft) 3D 420 x 80 mm 82563 2

ARM SUPPORT HEMIPLEGIC - ROTATABLE AND FIXABLE

Position Description Item no. Pcs. per chair

Arm support hemiplegic, 3D, right
Arm support hemiplegic, 3D, left

Cover for hemi arm support, 3D

CUSHION HEMIPLEGIC

Position Description Item no. Pcs. per chair

ARM SUPPORT & ACCESSORIES

¥ Netti 4
14 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM conrom 4H CED



EXTENSION PART

Position

Description b Pcs. per chair

Extension part, grey, right

Extension part, grey, left

Foot support locking bracket, right
Foot support locking bracket, left

EXTENSION PART WITH ABDUCTION

Position

1
2

¥ Netti 4u ceD

COMFORT

Description Item no. Pcs. per chair

Extension part with abduction - 2.5 cm extra, right 80071 1
Extension part with abduction - 2.5 cm extra, left 80072 1

l S3IIHOSS3IDIV B LH0ddNS LOOS

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 15



l FOOT SUPPORT & ACCESSORIES

16 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

ANGLE ADJUSTABLE FOOT SUPPORT

Position

Description

Angle adjustable foot support width 35, complete, black, right
Angle adjustable foot support width 35, complete, black, left
Angle adjustable foot support width 40, complete, black, right
Angle adjustable foot support width 40, complete, black, left
Angle adjustable foot support width 43, complete, black, right
Angle adjustable foot support width 43, complete, black, left
Angle adjustable foot support width 45, complete, black, right
Angle adjustable foot support width 45, complete, black, left
Angle adjustable foot support width 50, complete, black, right
Angle adjustable foot support width 50, complete, black, left
Angle adjustable foot support width 55, complete, black, right
Angle adjustable foot support width 55, complete, black, left
Angle adjustable foot support width 60, complete, black, right
Angle adjustable foot support width 60, complete, black, left

Item no.

29500
29508
29502

29510
29503
2951
29504
29512
29505
29513
29506
29514
29507
29515

Pcs. per chair

¥ Netti 4u ceD

COMFORT



¥ Netti 4u ceD

COMFORT

l S3IIHOSS3IDIV B LH0ddNS LOOS

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 17



l FOOT SUPPORT & ACCESSORIES

18 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM




ANGLE ADJUSTABLE LEG SUPPORT

Position Description Item no. Pcs. per chair

3 Angle adjustable foot support, black, 3D fabric, right 41960 1

4 Angle adjustable foot support, black, 3D fabruc, left 41961 1

5 Knee pad, 3D 40886 2

5 Knee pad, Easy Care 29683 2

6 Calf support with bracket 35 cm 27964 1

6 Calf support with bracket 38-40 cm 27965 1

6 Calf support with bracket 43-45 cm 27966 1

6 Calf support with bracket 50 cm 27967 1

6 Calf support with bracket 55 cm 27968 1

6 Calf support with bracket 60 cm 27969 1

7 Foot plate W: 35 cm with 50 mm adjustment piece, complete, right 28621 1

8 Foot plate W: 35 cm with 350 mm adjustment piece, complete, left 28649 1

7 Foot plate W: 40 cm with 350 mm adjustment piece, complete, right 28623 1

8 Foot plate W: 40 cm with 350 mm adjustment piece, complete, left 28651 1

7 Foot plate W: 43 cm with 350 mm adjustment piece, complete, right 28624 1

8 Foot plate W: 43 cm with 350 mm adjustment piece, complete, left 28652 1

7 Foot plate W: 45 cm with 350 mm adjustment piece, complete, right 28625 1

8 Foot plate W: 45 cm with 350 mm adjustment piece, complete, left 28653 1

7 Foot plate W: 50 cm with 350 mm adjustment piece, complete, right 28626 1

8 Foot plate W: 50 cm with 350 mm adjustment piece, complete, left 28654 1

7 Foot plate W: 55 cm with 350 mm adjustment piece, complete, right 28627 1

8 Foot plate W: 55 cm with 350 mm adjustment piece, complete, left 28655 1

7 Foot plate W: 60 cm with 350 mm adjustment piece, complete, right 28628 1

8 Foot plate W: 60 cm with 350 mm adjustment piece, complete, left 28656 1

23 Adjustment piece 350 mm, reinforced 20138 2

23 Adjustment piece 245 mm 23172 2

23 Adjustment piece 350 mm, standard 23173 2

9 Foot plate spring 1x6x80 mm - model 2006 27858 2

10 Screw M6 x 12 mm 43499 2

n Lock nut 20356 2

12 Adjustment piece, mechanical, complete with screws, right 29558 2

13 Adjustment piece, mechanical, complete with screws, left 29559 1

14 Screw M6 x 40 mm 20103 1

15 Adaptor for calf support 25353 2

16 Screw M8 20761 2

17 Foot support locking cone 20539 2

18 Screw M6 20058 2

19 Foot support locking cone 20539 2

20 Screw M6 20058 2 8

24 Foot plate lock, complete, right 80691 2 9

25 Foot plate lock, complete, left 80692 1 8

26 Foot support swing unit 29492 2 %
Screw for adjustment piece 20181 1 O
Screw for adjustment piece 21880 2 3
Belt for foot plate 41643 2 @
Calf strap w/ upholstry 21293 2 g

28 Angle adjustable upper leg support with lever, knee upholstery 3D / 88211/ 88213 1 9
Easy Care, right wn

28 Angle adjustable upper leg support with lever, knee upholstery 3D / 88212 / 88214 1 8
Easy Care, left E

29 Adjustment piece for uppper part with lever, mechanical, complete with 88207 1 m
screws, right

30 Adjustment piece for uppper part with lever, mechanical, complete with 88208 1 -
screws, left

¥ Netti 4u ceD

COMFORT

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 19



LOOKING FOR CUSHIONS?

Please see separate
catalogue with our complete range of cushions.

' FOOT SUPPORT & ACCESSORIES

20 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti 4u ceD

COMFORT



ADJUSTABLE FOOT SUPPORT

Position Description Item no. Pcs. per chair

Adjustable foot support kit with screws 87088

S)
l S3IIHOSS3IDIV B LH0ddNS LOOS

» Netti 4
conrom 4H CED MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 21



l FOOT SUPPORT & ACCESSORIES

CALF SUPPORT WITH HINGE

Position Description Item no. Pcs. per chair
1 Calf support with hinge, left 35-38 cm 26542 1
1 Calf support with hinge, left 38-40 cm 26546 1
1 Calf support with hinge, left 45 cm 26550 1
1 Calf support with hinge, left 50 cm 26552 1
1 Calf support with hinge, left 55 cm 26554 1
1 Calf support with hinge, left 60 cm 26556 1
2 Calf support with hinge, right 35-38 cm 26541 1
2 Calf support with hinge, right 38-40 cm 26545 1
2 Calf support with hinge, right 45 cm 26549 1
2 Calf support with hinge, right 50 cm 26551 1
2 Calf support with hinge, right 55 cm 26653 1
2 Calf support with hinge, right 60 cm 26555 1

PADS FOR CALF SUPPORT

Position Description Item no. Pcs. per chair

Pads for calf support 35-38 cm 3D 41617 1
Pads for calf support 38-40 cm 3D 41618 1
Pads for calf support 43-45 cm 3D 41619 1
Pads for calf support 50 cm 3D 41620 1
Pads for calf support 55 cm 3D 41621 1
Pads for calf support 60 cm 3D 41622 1
Pads for calf support 35-38 cm EasyCare 87767 2
Pads for calf support 38-40 cm EasyCare 87768 2
Pads for calf support 43-45 cm EasyCare 87769 2
Pads for calf support 50 cm EasyCare 87770 2

PADS FOR CALF SUPPORT BRACKET

Position Description Item no. Pcs. per chair

_ Pads for calf support bracket 21745

ANKLE HUGGERS

Position Description Item no. Pcs. per chair
1 Ankle huggers S (17-20 cm) incl. mouting kit 45025 1
1 Ankle huggers M (19-23 cm) incl. mouting kit 45026 1
1 Ankle huggers Large (22-29 cm) incl. mouting kit 45027 1
1 Ankle huggers X-Large (28-33 cm) incl. mouting kit 45028 1
Mounting kit 45024 1 \

¥ Netti 4u ceD

22 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM COMFORT



@

FOOT PLATE UPHOLSTERY

Position Description Item no. Pcs. per chair
1 Foot plate upholstery, right 35 cm 28453 1
1 Foot plate upholstery, right 40 cm 28457 1
1 Foot plate upholstery, right 43 cm 28459 1
1 Foot plate upholstery, right 45 cm 28461 1
1 Foot plate upholstery, right 50 cm 28463 1
1 Foot plate upholstery, right 55 cm 28465 1
1 Foot plate upholstery, right 60 cm 28467 1
2 Foot plate upholstery, left 35 cm 28454 1
2 Foot plate upholstery, left 40 cm 28458 1
2 Foot plate upholstery, left 43 cm 28460 1
2 Foot plate upholstery, left 45 cm 28462 1
2 Foot plate upholstery, left 50 cm 28464 1
2 Foot plate upholstery, left 55 cm 28466 1
2 Foot plate upholstery, left 60 cm 28468 1

AMPUTATION SUPPORT

Position Description Item no. Pcs. per chair
1 Amputation support, left 35 cm 22160 1
1 Amputation support, left 40 cm 22162 1
1 Amputation support, left 43 cm 22163 1
1 Amputation support, left 45 cm 22164 1
1 Amputation support, left 50 cm 22165 1
1 Amputation support, left 55 cm 22166 1
1 Amputation support, left 60 cm 22167 1
2 Amputation support, right 35 cm 22152 1
2 Amputation support, right 40 cm 22154 1
2 Amputation support, right 43 cm 22155 1
2 Amputation support, right 45 cm 22156 1
2 Amputation support, right 50 cm 22157 1
2 Amputation support, right 55 cm 22158 1
2 Amputation support, right 60 cm 22159 1
e

l S3IIHOSS3IDIV B LH0ddNS LOOS

» Netti 4
conrom 4H CED MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 23



l FOOT SUPPORT & ACCESSORIES

24  Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM

FOOT SUPPORT UNIVERSAL

Position

N A N DM DN M DNM A DN D

NN N A

Description

Foot support Universal, right

Foot support Universal, left

Foot plate w/ heel strap 35 cm, right (245 mm)
Foot plate w/ heel strap 35 cm, left (245 mm)
Foot plate w/ heel strap 40 cm, right (245 mm)
Foot plate w/ heel strap 40 cm, left (245 mm)
Foot plate w/ heel strap 43 cm, right (245 mm)
Foot plate w/ heel strap 43 cm, left (245 mm)
Foot plate w/ heel strap 45 cm, right (245 mm)
Foot plate w/ heel strap 45 cm, left (245 mm)
Foot plate w/ heel strap 50 cm, right (245 mm)
Foot plate w/ heel strap 50 cm, left (245 mm)
Foot plate w/ heel strap 55 cm, right (245 mm)
Foot plate w/ heel strap 55 cm, left (245 mm)
Foot plate w/ heel strap 60 cm, right (245 mm)
Foot plate w/ heel strap 60 cm, left (245 mm)

Item no.

26708
26722

80030
80038
80032
80040
80033
80041

80034
80042
80035
80043
80036
80044
80037
80045

Pcs. per chair

KNEEPADS

Position

Description

Kneepads, universal 3D, L

Kneepads, universal 3D, R

Kneepads, universal EC, L

Kneepads, universal EC, R

Item no.

Pcs. per chair

¥ Netti 4u ceD

COMFORT



FOOT BOARD W/ LOCK

Position Description Item no. Pcs. per chair
Foot board w/ lock, width 35 cm, for angle adjust. foot support 25701 1
Foot board w/ lock, width 40 cm, for angle adjust. foot support 25703 1
Foot board w/ lock, width 43 cm, for angle adjust. foot support 25704 1
Foot board w/ lock, width 45 cm, for angle adjust. foot support 25705 1
Foot board w/ lock, width 50 cm, for angle adjust. foot support 25706 1
Foot board w/ lock, width 55 cm, for angle adjust. foot support 25707 1
Foot board w/ lock, width 60 cm, for angle adjust. foot support 25708 1
Adjustment piece 350 mm, reinforced 20138 2
Adjustment piece 245 mm 23172 2
Adjustment piece 350 mm (standard) 23173 2

1
O
O
FOOT BOX —
wn
C
Position Description Item no. Pcs. per chair g
O
1 Foot box, width 35 cm 23336 1 pu)
_|
1 Foot box, width 40 cm 23338 1 o)
1 Foot box, width 43 cm 23339 1 >
1 Foot box, width 45 cm 23340 1 8
1 Foot box, width 50 cm 23341 1 o
1 Foot box, width 55 cm 23342 1 8
1 Foot box, width 60 cm 23343 1 Y
2 Locking bracket for foot box, right 80839 1 m
3 Locking bracket for foot box, left 80840 1 P

» Netti 4
conrom 4H CED MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 25



' FOOT SUPPORT & ACCESSORIES

NETTI GRANDIS

LEG SUPPORT GRANDIS COMPLETE

Position

N N M N NN NN

Description

Leg support Grandis Complete calf support 150 mm, right, SW 35 cm
Leg support Grandis Complete calf support 150 mm, right, SW 38 cm
Leg support Grandis Complete calf support 150 mm, right, SW 40 cm
Leg support Grandis Complete calf support 225 mm, right, SW 43 cm
Leg support Grandis Complete calf support 225 mm, right, SW 45 cm
Leg support Grandis Complete calf support 225 mm, right, SW 50 cm
Leg support Grandis Complete calf support 225 mm, right, SW 55 cm
Leg support Grandis Complete calf support 225 mm, right, SW 60 cm
Leg support Grandis Complete calf support 150 mm, left, SW 35 cm
Leg support Grandis Complete calf support 150 mm, left, SW 38 cm
Leg support Grandis Complete calf support 150 mm, left, SW 40 cm
Leg support Grandis Complete calf support 225 mm, left, SW 43 cm
Leg support Grandis Complete calf support 225 mm, left, SW 45 cm
Leg support Grandis Complete calf support 225 mm, left, SW 50 cm
Leg support Grandis Complete calf support 225 mm, left, SW 55 cm
Leg support Grandis Complete calf support 225 mm, left, SW 60 cm

26 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

Item no.

88601
88602
88603
88604
88605
88606
88607
88608
88609
88610
88611
88612
88613
88614
88615
88616

Pcs. per chair

¥ Netti 4u ceD

COMFORT



NETTI GRANDIS

EXTENSION PART GRANDIS

Position Description

Extension part Grandis right
Extension part Grandis left
Extension part Grandis with 2,5 cm abduction right

Extension part Grandis with 2,5 cm abduction left

LEG SUPPORT UPPER PART AND ACCESSORIES

Position Description
3 Leg support Grandis Complete right
4 Leg support Grandis Complete left
5 Lifting handle right
6 Lifting handle left
7 Knee pivot upholstery Grandis
8 Knee upholstery Grandis right
9 Knee upholstery Grandis left
10 Angle limiter Grandis leg support
n Soft need upholstery Grandis 3D right
12 Soft need upholstery Grandis 3D left
n Soft need upholstery Grandis Easy Care right
12 Soft need upholstery Grandis Easy Care left

¥ Netti 4u ceD

Item no.

Item no.

88671
88672
87808
87809
88594
85859
85860
85977
89120
89121
89849
89850

Pcs. per chair

Pcs. per chair

1

l S3IIHOSS3IDIV B LH0ddNS LOOS

COMFORT MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 27



l FOOT SUPPORT & ACCESSORIES

28 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM

NETTI GRANDIS

CALF SUPPORT GRANDIS

Position

Description

Item no.
150 mm

Pcs. per chair

o o o u A b A A N N DA DDA D N NN DNDMDNDNDN

Calf support Grandis SW 35 cm

Calf support Grandis SW 38-40 cm

Calf support Grandis SW 43-45 cm

Calf support Grandis SW 50 cm

Calf support Grandis SW 55 cm

Calf support Grandis SW 60 cm

Cover calf support Grandis 3D SW 35 cm

Cover calf support Grandis 3D SW 38-40 cm
Cover calf support Grandis 3D SW 43-45 cm
Cover calf support Grandis 3D SW 50 cm
Cover calf support Grandis 3D SW 55 cm

Cover calf support Grandis 3D SW 60 cm
Cover calf support Grandis EasyCare SW 35 cm
Cover calf support Grandis EasyCare SW 38-40 cm
Cover calf support Grandis EasyCare SW 43-45 cm
Cover calf support Grandis EasyCare SW 50 cm
Cover calf support Grandis EasyCare SW 55 cm
Cover calf support Grandis EasyCare SW 60 cm
Calf support bracket Grandis

Calf support Grandis SW 65 cm

Calf support Grandis SW 70 cm

Calf support Grandis SW 75 cm

85680
85681

85074
85075

88624
88625

90014

88634
88635
88636
88637

88650
88651
88652
88653

88654
88655
88656
88657

89489
89490
89491

2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2

¥ Netti 4u ceD

COMFORT



NETTI GRANDIS

/
b
4
b
b
4
b
4
4
4
4
b
4
b
b
4
ik
4
4
4
4
b
4

)

FOOT PLATE GRANDIS AND ACCESSORIES

l S3IIHOSS3IDIV B LH0ddNS LOOS

Position Description Item no. Pcs. per chair
1 Foot plate Grandis with lock, right SW 35 cm 85912 1
1 Foot plate Grandis with lock, right SW 38 cm 85913 1
1 Foot plate Grandis with lock, right SW 40 cm 85914 1
1 Foot plate Grandis with lock, right SW 43 cm 85915 1
1 Foot plate Grandis with lock, right SW 45 cm 85916 1
1 Foot plate Grandis with lock, right SW 50 cm 85917 1
1 Foot plate Grandis with lock, right SW 55 cm 85918 1
1 Foot plate Grandis with lock, right SW 60 cm 85919 1
2 Foot plate Grandis with lock, left SW 35 cm 85920 1
2 Foot plate Grandis with lock, left SW 38 cm 85921 1
2 Foot plate Grandis with lock, left SW 40 cm 85922 1
2 Foot plate Grandis with lock, left SW 43 cm 85923 1
2 Foot plate Grandis with lock, left SW 45 cm 85924 1
2 Foot plate Grandis with lock, left SW 50 cm 85925 1
2 Foot plate Grandis with lock, left SW 55 cm 85926 1
2 Foot plate Grandis with lock, left SW 60 cm 85927 1
3 Foot plate lock for Grandis foot plate 85745 1
4 Lock pin w/washer for Grandis foot plate 85751 1
5 Ankle huggers attachment kit for Grandis foot plates 88658 1

» Netti 4
conront 40 CED MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 29



GRANDIS FOOT BOARD

Position

1

Description

Grandis foot board SW 35 cm
Grandis foot board SW 38 cm
Grandis foot board SW 40 cm
Grandis foot board SW 43 cm
Grandis foot board SW 45 cm
Grandis foot board SW 50 cm
Grandis foot board SW 55 cm
Grandis foot board SW 60 cm
Grandis foot board SW 65 cm
Grandis foot board SW 70 cm
Grandis foot board SW 75 cm

NETTI GRANDIS

Item no.

89272
89273
89274
89275
89276
89277
89278
89279
89280
89281
89282

Pcs. per chair

l FOOT SUPPORT & ACCESSORIES

30 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti 4u ceD

COMFORT



GRANDIS FOOT BOX

¥ Netti

COMFORT

Position

1

4U CED

Description

Foot box compl.
Foot box compl.
Foot box compl.
Foot box compl.
Foot box compl.
Foot box compl.
Foot box compl.

Foot box compl.

NETTI GRANDIS

w/leg support SW 35 cm
w/leg support SW 38 cm
w/leg support SW 40 cm
w/leg support SW 43 cm
w/leg support SW 45 cm
w/leg support SW 50 cm
w/leg support SW 55 cm
w/leg support SW 60 cm

Item no.

89378
89379
89380
89381
89382
89383
89384
89385

Pcs. per chair

l S3IIHOSS3IDIV B LH0ddNS LOOS

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 31



NETTI GRANDIS

GRANDIS AMPUTATION SUPPORT

Position Description Item no. Pcs. per chair
1 Grandis amputation support right 87231 1
2 Grandis amputation support left 87232 1
3 Grandis amputation support right SW 35 cm 3D 87560 1
3 Grandis amputation support right SW 38-40 cm 3D 87561 1
3 Grandis amputation support right SW 43 - 45 cm 3D 87562 1
3 Grandis amputation support right SW 50 cm 3D 87563 1
3 Grandis amputation support right SW 55 cm 3D 87564 1
3 Grandis amputation support right SW 60 cm 3D 87565 1
4 Grandis amputation support left SW 35 cm 3D 87568 1
4 Grandis amputation support left SW 38-40 cm 3D 87569 1
4 Grandis amputation support left SW 43-45 cm 3D 87570 1
4 Grandis amputation support left SW 50 cm 3D 87571 1
4 Grandis amputation support left SW 55 cm 3D 87572 1
4 Grandis amputation support left SW 60 cm 3D 87573 1
5 Calf support for Grandis amputation support SW 35 cm* 89519 2
5 Calf support for Grandis amputation support SW 38-40 cm* 89520 2
5 Calf support for Grandis amputation support SW 43-45 cm* 89521 2
5 Calf support for Grandis amputation support SW 50 cm* 89522 2
5 Calf support for Grandis amputation support SW 55 cm* 89523 2
5 Calf support for Grandis amputation support SW 60 cm* 89524 2
6 Cover for Grandis amputation 3D 89527 2
6 Cover for Grandis amputation Easy Care 89528 2

' FOOT SUPPORT & ACCESSORIES

» Netti 4
32 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM conrom 4H CED



LEG SUPPORT NETTI GRANDIS WITH FIXED ANGLE

Position

1

A A D M B DDA DB N N N N N AEN N ADNDDN

¥ Netti 4u ceD

COMFORT

NETTI GRANDIS

Description

Grandis leg support with fixed angle SW 35 cm right
Grandis leg support with fixed angle SW 38 cm right
Grandis leg support with fixed angle SW 40 cm right
Grandis leg support with fixed angle SW 43 cm right
Grandis leg support with fixed angle SW 45 cm right
Grandis leg support with fixed angle SW 50 cm right
Grandis leg support with fixed angle SW 55 cm right
Grandis leg support with fixed angle SW 60 cm right
Grandis leg support with fixed angle SW 35 cm left
Grandis leg support with fixed angle SW 38 cm left
Grandis leg support with fixed angle SW 40 cm left
Grandis leg support with fixed angle SW 43 cm left
Grandis leg support with fixed angle SW 45 cm left
Grandis leg support with fixed angle SW 50 cm left
Grandis leg support with fixed angle SW 55 cm left
Grandis leg support with fixed angle SW 60 cm left
Grandis upper leg support with fixed angle right
Grandis upper leg support with fixed angle left
Grandis foot support with heel strap SW 35 cm
Grandis foot support with heel strap SW 38 cm
Grandis foot support with heel strap SW 40 cm
Grandis foot support with heel strap SW 43 cm
Grandis foot support with heel strap SW 45 cm
Grandis foot support with heel strap SW 50 cm
Grandis foot support with heel strap SW 55 cm
Grandis foot support with heel strap SW 60 cm

Heel strap kit SW 35 cm

Heel strap kit SW 38 cm

Heel strap kit SW 40 cm

Heel strap kit SW 43 cm

Heel strap kit SW 45 cm

Heel strap kit SW 50 cm

Heel strap kit SW 55 cm

Heel strap kit SW 60 cm

Item no.

87543
87544
87545
87546
87547
87548
87549
87550
87551

87552
87553
87554
87555
87556
87557
87558
89862
89863
87533
87534
87535
87536
87537
87538
87539
87540
87525
87526
87527
87528
87529
87530
87531

87532

Pcs. per chair

2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2

l S3IIHOSS3IDIV B LH0ddNS LOOS

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 33



l WHEELS & ACCESSORIES

34 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM

FRONT CASTOR

Position

N NN

o o u1 A N N W

Description

Front castor w/ fork 5”
Front castor w/ fork 6” 15027 mm

Front castor w/ fork 7” 175 x 33 mm, (standard)
Front castor w/ fork 7” 175 x 45 mm, wide, PU
Front castor fork, with axle for 6” castors

Front castor fork 45 mm, with axle (standard) for 7” castors
Front castor fork 60 mm, with axle (wide) for 89921
Front castor 77 175 x 33 mm

Front castor 77 175 x 45 mm, PU

Front castor 6” 150 x 27 mm

Screw M8 x 65

Washer M8

Screw M8

Lock nut M8

Item no.

86144
86141
86136
89944
41554
28486
43151
86135
89922
86138
20814
20419
20068
20412

Pcs. per chair

2
2
2
2
2
2
2
2
2
2
2
2
4
2

¥ Netti 4u ceD

COMFORT



Description Iltem no. Pcs. per chair

Brake, right
Brake, left
Brake handle, 310 mm

Position Description Pcs. per chair

Spoke protector transparent 22” 2

Spoke protector transparent 24” 2

MAIN WHEEL <
Position Description Item no. Pcs. per chair %
1 Main wheel 20” x 1 PU 83158 2 E
1 Main wheel 22” x 1 PU 83156 2 %
1 Main wheel 24” x 1 PU 83157 2 >
2 Push rim aluminium 22” 43031 2 g
2 Push rim aluminium 22” 43028 2 m
2 Push rim aluminium 24” 43029 2 8
3 Wheel distance tube push rim 21 2 g
4 Wheel bushing M18x60 85648 2 wn
5 Quick release axle 12x118 mm 85264 2 [

» Netti 4
conrom 4H CED MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 35



MAIN WHEEL DRUM BRAKE

Position

n
n

O 0 N O oA A N N NN

' WHEELS & ACCESSORIES
S}

36 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

Description

Wheel drum brake 12%2” PU with drum brake, complete kit
Wheel drum brake 16” PU with drum brake, complete kit
Wheel drum brake 24” PU with drum brake, complete kit
Wheel drum brake 20x1” PU

Wheel drum brake 22x1” PU
Wheel drum brake 24x1” PU
Push rim aluminium 20”

Push rim aluminium 22”

Push rim aluminium 24”
Wheel distance tube push rim
Brake plate right

Brake plate left

Quick release axle 12x118 mm
Positioner lock DB

Bolt Hex socket button Head ISO7380 M6x14 mm
Lock nut DIN985 M6

Wire 1400/1550 mm

Release handle lockable

Item no.

29315
29316
29317

83158

43101
43103
43031
43028
43029
21

85285
85284
85264
23433
24416
20058
27628
41313

Pcs. per chair

N NN N NN N N NN

_ o

N DM NN NN

¥ Netti 4u ceD

COMFORT



ANTI TIP

Position

a A N N

¥ Netti 4u ceD

COMFORT

Description

Anti tip, complete, Netti 4U CE/CED 24”
Anti tip, complete, Netti 4U 20-22”
Spring for anti tip Netti 4U CE/CED
Locking pin for anti tip Netti 4U

End cap for anti tip

Screw M6 x 20 mm

Description

Anti tip w/ pedal

Anti tip w/ pedal x-long/short for frame extender

Spring for anti tip
Locking pin for anti tip

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20

Item no.

28018
28816
26783
26844
28012
23316

Item no.

Pcs. per chair

N NN N NN

Pcs. per chair

1INN YMOVvE ANV Lv3S

37



SEAT AND BACK UNIT

SIDE SUPPORT STABLE

Position Description Item no. Pcs. per chair

Side support Stable, right
Side support Stable, left

Side support upholster Stable

SIDE SUPPORT CORRECTION

Position Description Pcs. per chair

Side support Correction, left
Side support Correction, right

Pad for side support Correction

¥ Netti 4u ceD

38 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM COMFORT



e D 2)
U 2)

ABDUCTION BLOCK

Position

¥ Netti 4u ceD

COMFORT

Description Item no. Pcs. per chair

Abduction block, small (W:80, L: 140, H:80 mm) incl. set plate kit

Abduction block, medium (W:110, L:150, H:80 mm) incl. set plate kit
Abduction block, large (W:140, L:170, H:80 mm) incl. set plate kit

Set plate reinforcement kit

LOOKING FOR CUSHIONS?

Please see separate
catalogue with our complete range of cushions.

1INN MOVd ANV LVv3S

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 39



SEAT AND BACK UNIT

- )
2\ 4)
(2) -
D
= -
S n & "
| ]
L | / o
| I L L
Y [, o)
G X / i
| N
B E A
T T "
Li - . |'. b
| A -

# A B C D E F G
41645 22cm 12.cm 21 cm 6,5cm 13 cm - -
45093 24-28 cm
45094 28-33 cm
45015 30 cm 18 cm 20 cm 4 cm 13 cm 33-41cm -
45016 38 cm 21cm 23 cm 6 cm 13 cm 41-48 cm -
45095 48-56 cm
45089 21-24 cm
45090 24-28 cm
45091 28-33 cm
45017 - 15-25,5 cm - - - 33-41cm 37 cm
45018 o 17-30 cm ® 6,5 cm ® 41-48 cm 42,5 cm
45092 48-56 cm

H-BELT & HARNESSES: NETTI & BODYPOINT (we recommend H-belt adaptor)

Position

A A DDA A D N N NN NN

Description

Netti H-belt upholstered with car lock
Netti Belt Cross harness

Bodypoint Stayflex chest support XS
Bodypoint Stayflex chest support S
Bodypoint Stayflex chest support M
Bodypoint Stayflex chest support L
Bodypoint Stayflex chest support XL
Bodypoint PivotFit Shoulder Harness XXS
Bodypoint PivotFit Shoulder Harness XS
Bodypoint PivotFit Shoulder Harness S
Bodypoint PivotFit Shoulder Harness M
Bodypoint PivotFit Shoulder Harness L

Bodypoint PivotFit Shoulder Harness XL

Iltem no.

20881
41645
45093
45094
45015
45016
45095
45089
45090
45091
45017
45018
45092

Pcs. per chair

40 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti 4u ceD

COMFORT



5y
(2)

DAY
0

AN
(4)

H-BELT ADAPTOR

Position Description

H-harness adaptor kit for seat width 25-40 cm, back height standard
H-harness adaptor kit for seat width 25-40 cm, back height extended
H-harness adaptor kit for seat width 43-45 cm, back height standard
H-harness adaptor kit for seat width 43-45 cm, back height extended
H-harness adaptor kit for seat width 50-60 cm, back height standard

a b 00 A NN

H-harness adaptor kit for seat width 50-60 cm, back height extended

¥ Netti 4u ceD

Iltem no

86888
86889
86892
86893
86894
86895

1INN MOVd ANV LVv3S

COMFORT MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 41



SEAT AND BACK UNIT

BELTS NETTI AND BODYPOINT

Position Description Item no.
1 Bodypoint pelvic stabiliser Evoflex 2-point XS (bracket 45279 not included) 45021
1 Bodypoint pelvic stabiliser Evoflex 2-point M (obracket 45279 not included) 82788
1 Bodypoint pelvic stabiliser Evoflex 2-point L (bracket 45279 not included) 82789

Bracket for 2-point Bodypoint belt 45279
2 Bodypoint 4-point belt XS (bracket 45280 not included) 45081
2 Bodypoint 4-point belt M (bracket 45280 not included) 45013
2 Bodypoint 4-point belt L (bracket 45280 not included) 45014
Bracket for 4-point Bodypoint belt 45280
3 Netti Hip belt, with upholstery and car belt lock incl. brackts 20845
4 Extra bracket for Netti hip belt 41698
5 Bodypoint Belt hip, 2-point XS (bracket 45279 not included) 45096
5 Bodypoint Belt hip, 2-point S (bracket 45279 not included) 45079
5 Bodypoint Belt hip, 2-point M (bracket 45279 not included) 45080
5 Bodypoint Belt hip, 2-point 82 cm for SW 55-65 cm 45276
(bracket 45279 not included)
5 Bodypoint Belt hip, 2-point 92 cm for SW 65-75 cm 45277
(bracket 45279 not included)
6 Security cover XS, Bodypoint, 2,5 cm 45047
6 Security cover M, Bodypoint, 4 cm 45048
6 Security cover L, Bodypoint, 5 cm 45049
7 Abduction belt SW 35-45 cm 41646
7 Abduction belt SW 50-60 cm 41647
8 Universal Elastic Strap S (H: 8 cm - L: 142 cm, possible to shorten) 45084
8 Universal Elastic Strap L (H: 11 cm - L: 142 cm, possible to shorten) 45085
8 Universal Elastic Strap XL (H: 15 cm - L: 142 cm, possible to shorten) 45086

42 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

. per chair

< B =
A
v e B
10 a___(o] )
L
t |
< D o
# A =] C D
45081 4 cm 36 cm 55cm 130 cm
45013 4 cm 46 cm 55cm 142 cm
45014 5cm 575 cm 75 cm 155 cm
20845 4,7 cm 50 cm 7 cm 167 cm
45096 4 cm 36 cm 55cm 130 cm
45079 4 cm 40 cm 5cm 142 cm
45080 4 cm 46 cm 5cm 142 cm
45276 5cm 82 cm 9cm 206 cm
45277 5cm 92 cm 10 cm 206 cm

¥ Netti 4u ceD

COMFORT




_IBERTAS OPTION:
15° BACK FLEXIBILITY
-OR AN IMPROVED
SEATING COMFORT

NETTI LIBERTAS

Position Description Item no. Pcs. per chair

Netti Libertas 15° flexible back, 80N cylinder

Netti Libertas 15° flexible back, 120N cylinder

Netti Libertas 15° flexible back, 160N cylinder

1INN MOVd ANV LVv3S

» Netti 4
conrom 4H CED MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 43



TRAY SWINGABLE

Position Description Item no. Pcs. per chair

Tray swingable, reinforced, SW: 35-43 cm including support profile
Tray swingable, reinforced, SW: 45-50 cm including support profile

Tray arm support profile as spare part

TRAY WITH LOCK

Position Description Item no. Pcs. per chair

Tray with lock, SW: 35-43 cm including support profile

Tray with lock, SW: 45-50 cm including support profile

Tray arm support profile as spare part

TRAY UPHOLSTERY

Position Description Item no. Pcs. per chair

Tray upholstery SW 35-43 cm, right
Tray upholstery SW 35-43 cm, left
Tray upholstery SW 45-50 cm, right
Tray upholstery SW 45-50 cm, left

l MISC. ACCESSORIES

¥ Netti 4
Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM conrom 4H CED

N
N



®

UNIVERSAL TRAY

Position Description Pcs. per chair

Universal tray, width 35-43 cm incl. bracket kit

Universal tray, width 45-50 cm incl. bracket kit

Universal tray, width 55-60 cm incl. bracket kit

Bracket kit (bracket for tray incl. adjust. piece and nut)

MULTI RACK

Position Description Item no. Pcs. per chair

l S3140OSS3ADIV "OSINW

» Netti 4
conrom 4H CED MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 45



UNIVERSAL DEVICE BASKET

1

Position

Description

Universal device basket for Netti 4U CED and Netti 4U Base. 35 cm
Universal device basket for Netti 4U CED and Netti 4U Base. 40 cm
Universal device basket for Netti 4U CED and Netti 4U Base. 43 cm
Universal device basket for Netti 4U CED and Netti 4U Base. 45 cm
Universal device basket for Netti 4U CED and Netti 4U Base. 50 cm
Universal device basket for Netti 4U CED and Netti 4U Base. 55 cm
Universal device basket for Netti 4U CED and Netti 4U Base. 60 cm

Item no.

45250
45251
45252
45253
45254
45255
45256

1

Pcs. per chair

The kit consists of universal device basket and extra long antitippers. Frame extenders are also required. The universal device basket has a max load of 6 kg.

l MISC. ACCESSORIES

LOOKING FOR CUSHIONS?

Please see separate

catalogue with our complete range of cushions.

46 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM

¥ Netti 4u ceD

COMFORT



Prices are subject to price changes and errors. The newest catalogue can be found on our homepage:

My-.Netti.com

IN DIALOGUE WE CREATE
SIMPLE SOLUTIONS AND
ENABLE JOY OF LIFE

FEEL FREE TO CONTACT US:

NORWAY DENMARK
Alu Rehab AS Alu Rehab ApS
Bedriftsvegen 23 Klagftehgaj 8
® N-4353 Klepp Stasjon DK-8680 Ry
N ettl T: +45 87 88 73 00
T: +47 5178 62 20 F: +4587 88 7319

post@My-Netti.com info@My-Netti.com My-Netti.com



